normalized X?

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

Ratio

<op fp_> (%)

chi2
Entries 120
Mean 1.268
Std Dev 0.6216
R |
chiz
Entries 110
Mean 1.319
Std Dev 0.6493
chi2
Entries 110
Mean 1.319

Std Dev 0.6493

10 12 14 16 18 20
X2

[ normalized x? probability |

0.16
0.14
0.12

oqf--i---

0.08
0.06

0.04

chiz_prob
Entries 120
_ | Mean 0.3796
Std Dev 0.323
Shiz_pro
Entries 110
Mean 0.3565
= |Std Dev. 0.3152
Chiz_prob
" [Entries 110
Mean 0.3565

- Lstd Dev 0.3152

040506070809 1

Prob(x?)

[l

T

T

4
3
2

dp_Ip. > (%)

== DQM_V0001_R000000001__Global__cmssw1000time__RECO
s DQM_V0001_R0O00000001__Global__mkFitNewOLD1000time__RECO

10 10%

e DQM_V0001_R000000001__Global__mkFitNewSEED1000ti

me__RECO

Ratio

< X2/ ndf >

i

Ratio

1072 107
AR(track, ]et?



	Contents
	Page 1


